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SECTION-A
Choose the correct answer & fill in the blanks: (4)
1.  does not have an oil refinery.
c. Pune
2.The is the head of the state.
c. governor
3. The members of Rajya Sabha are elected for years.
C. Six
4, is not an important factor in the growth of industry.
d. River
SECTION-B
Write very short answer: (2)

5. Identify the personality shown in the picture and which post does he hold in the
Central government? _— |

Ans- The person shown is Narendra Modi. He holds the post of Prime Minister
of India in the central government.

6.ldentify the picture shown and name a city or state where this industry is located
In India.

(2)
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Ans- The picture shown is a computer. Chennai, Hyderabad and Bengaluru are some of the
main centers of this industry.

SECTION-C
Write short answer questions: (9)

7. What are human resource? Explain.

Ans- Human resource is one of the most important aspects of any industry.

The machines in our industries are run by skilled workers.

8. Explain cottage industry.

Ans-i. A cottage industry is a small manufacturing operation and is often run out of a
home by a single individual or a family.

ii. Cottage industries can be an important source of income in rural areas where jobs
are scarce.

iii. Ex- Pottery making

9. Name the three parts of the Parliament. Explain.

Ans- The Indian Parliament has three parts-the President of India, Lok Sabha and
Rajya Sabha. The President is the head of our country. The Lok Sabha is also known
as the Lower House of the Parliament. The Rajya Sabha is the Upper House of the
Parliament.

SECTION-D
Choose any two long answer questions and write: (8)
10. Why does India have government at three levels? Name them and explain.
Ans- India has government at three levels because it is a vast nation with
twenty-eight states and eight union territories. It is very difficult for a single
government to run the entire country. Hence, our Constitution has provided for
three separate levels of government.
* Union government * State government * Local government
11. Which is the highest court of law in India? Where is it located?
Ans- There are various courts in India. The highest court of law in India is
The Supreme Court of India. Which is in Delhi.
12. What are the difference between large-scale and small-scale industries?
Ans-Large-scale industries refer to the industries that require a huge amount
of money to establish and employ thousands of people. Small-scale industries
employ a smaller number of workers and are cheaper to establish compared
to large-scale industries. In these industries, manufacturing of goods is done on
a small-scale.
13. What are raw material? Explain.
Ans- Raw materials are the most important factors for the growth of any industry.
Without raw materials, industries cannot produce anything. For example, if there
would be no cotton plants, there would be no clothes for us to wear.
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